# On the Periodic Solutions of Some Rational Difference Systems II

**Banyat Sroysang** 

Department of Mathematics and Statistics, Faculty of Science and Technology, Thammasat University, Pathumthani 12121 Thailand banyat@mathstat.sci.tu.ac.th

#### Abstract

In this paper, we study the periodic solutions of the rational difference system

$$x_{n+1} = \frac{\beta y_{n-2}}{-\beta - y_{n-2} x_{n-1} y_n}, \quad y_{n+1} = \frac{\beta x_{n-2}}{-\beta - x_{n-2} y_{n-1} x_n},$$
$$z_{n+1} = \frac{\beta x_{n-2} + \beta y_{n-2}}{-\beta - x_{n-2} y_{n-1} x_n}, \quad n = 0, 1, \dots,$$

where  $\beta \neq 0$  and the initial conditions are arbitrary real numbers.

#### Mathematics Subject Classification: 39A10

Keywords: rational difference equation, periodic solution

# 1 Introduction

In 2011, Kurbanli et al. [2] studied the behavior of positive solutions of the system of rational difference equations

$$x_{n+1} = \frac{x_{n-1}}{y_n x_{n-1} + 1}, \quad y_{n+1} = \frac{y_{n-1}}{x_n y_{n-1} + 1}, \quad n = 0, 1, ...,$$

where the initial conditions are arbitrary non negative real numbers.

In 2012, Elsayed et al. [1] studied the solutions of the systems of the difference equation

$$x_{n+1} = \frac{1}{x_{n-p}y_{n-p}z_{n-p}}, \quad y_{n+1} = \frac{x_{n-p}y_{n-p}z_{n-p}}{x_{n-q}y_{n-q}z_{n-q}}, \quad z_{n+1} = \frac{x_{n-q}y_{n-q}z_{n-q}}{x_{n-r}y_{n-r}z_{n-r}},$$

n = 0, 1, ..., where the initial conditions are nonzero real numbers.

In 2013, Özkan and Kurbanli [3] studied the periodic solutions of the system of rational difference equations

$$x_{n+1} = \frac{y_{n-2}}{-1 - y_{n-2}x_{n-1}y_n}, \quad y_{n+1} = \frac{x_{n-2}}{-1 - x_{n-2}y_{n-1}x_n},$$
$$z_{n+1} = \frac{x_{n-2} + y_{n-2}}{-1 - x_{n-2}y_{n-1}x_n}, \quad n = 0, 1, ...,$$

where the initial conditions are arbitrary real numbers.

# 2 Results

**Theorem 2.1.** Let  $\beta$  be a nonzero real number, and let  $y_0 = a$ ,  $y_{-1} = b$ ,  $y_{-2} = c$ ,  $x_0 = d$ ,  $x_{-1} = e$ ,  $x_{-2} = f$  be arbitrary real numbers such that  $fbd \neq -\beta \neq cea$ . Let  $\{x_n, y_n, z_n\}$  be a solution of the system

$$x_{n+1} = \frac{\beta y_{n-2}}{-\beta - y_{n-2} x_{n-1} y_n}, \quad y_{n+1} = \frac{\beta x_{n-2}}{-\beta - x_{n-2} y_{n-1} x_n},$$
$$z_{n+1} = \frac{\beta x_{n-2} + \beta y_{n-2}}{-\beta - x_{n-2} y_{n-1} x_n}, \quad n = 0, 1, \dots$$

Then all six-period solutions of the system are as follows:

$$\begin{aligned} x_{6n+1} &= -\frac{\beta c}{cea + \beta}, \quad y_{6n+1} = -\frac{\beta f}{fbd + \beta}, \quad z_{6n+1} = -\frac{\beta f + \beta c}{fbd + \beta}, \\ x_{6n+2} &= -\frac{b(fbd + \beta)}{\beta}, \quad y_{6n+2} = -\frac{e(cea + \beta)}{\beta}, \quad z_{6n+2} = -\frac{(e + b)(cea + \beta)}{\beta}, \\ x_{6n+3} &= -\frac{\beta a}{cea + \beta}, \quad y_{6n+3} = -\frac{\beta d}{fbd + \beta}, \quad z_{6n+3} = -\frac{\beta d + \beta a}{fbd + \beta}, \\ x_{6n+4} &= f, \quad y_{6n+4} = c, \quad z_{6n+4} = \frac{c(fbd + \beta) + f(cea + \beta)}{fbd + \beta}, \\ x_{6n+5} &= e, \quad y_{6n+5} = b, \quad z_{6n+5} = \frac{b(fbd + \beta) + e(cea + \beta)}{fbd + \beta}, \\ x_{6n+6} &= d, \quad y_{6n+6} = a, \quad z_{6n+6} = \frac{a(fbd + \beta) + d(cea + \beta)}{fbd + \beta}, \end{aligned}$$

where n = 0, 1, ....

Proof. We note that 
$$x_1 = -\frac{\beta c}{cea + \beta}$$
,  $y_1 = -\frac{\beta f}{fbd + \beta}$ ,  $z_1 = -\frac{\beta f + \beta c}{fbd + \beta}$ ,  
 $x_2 = \frac{\beta y_{-1}}{-\beta - y_{-1} x_0 y_1} = \frac{\beta b}{-\beta - bd \left(-\frac{\beta f}{fbd + \beta}\right)} = -\frac{b(fbd + \beta)}{\beta}$ ,  
 $y_2 = \frac{\beta x_{-1}}{-\beta - x_{-1} y_0 x_1} = \frac{\beta e}{-\beta - ea \left(-\frac{\beta c}{cea + \beta}\right)} = -\frac{e(cea + \beta)}{\beta}$ ,  
 $z_2 = \frac{\beta x_{-1} + \beta y_{-1}}{-\beta - x_{-1} y_0 x_1} = \frac{\beta e + \beta b}{-\beta - ea \left(-\frac{\beta c}{cea + \beta}\right)} = -\frac{(e + b)(cea + \beta)}{\beta}$ ,

$$x_{3} = \frac{\beta y_{0}}{-\beta - y_{0} x_{1} y_{2}} = \frac{\beta a}{-\beta - a \left(-\frac{\beta c}{cea + \beta}\right) \left(-\frac{e(cea + \beta)}{\beta}\right)} = -\frac{\beta a}{cea + \beta},$$

$$y_{3} = \frac{\beta x_{0}}{-\beta - x_{0} y_{1} x_{2}} = \frac{\beta d}{-\beta - d \left(-\frac{\beta f}{fbd + \beta}\right) \left(-\frac{b(fbd + \beta)}{\beta}\right)} = -\frac{\beta d}{fbd + \beta},$$

$$z_{3} = \frac{\beta x_{0} + \beta y_{0}}{-\beta - x_{0} y_{1} x_{2}} = \frac{\beta d + \beta a}{-\beta - d \left(-\frac{\beta f}{fbd + \beta}\right) \left(-\frac{b(fbd + \beta)}{\beta}\right)} = -\frac{\beta d + \beta a}{fbd + \beta},$$

$$x_{4} = \frac{\beta y_{1}}{-\beta - y_{1} x_{2} y_{3}} = \frac{\beta \left(-\frac{\beta f}{f b d + \beta}\right)}{-\beta - \left(-\frac{\beta f}{f b d + \beta}\right) \left(-\frac{b (f b d + \beta)}{\beta}\right) \left(-\frac{\beta d}{f b d + \beta}\right)} = f,$$
$$y_{4} = \frac{\beta x_{1}}{-\beta - x_{1} y_{2} x_{3}} = \frac{\beta \left(-\frac{\beta c}{c e a + \beta}\right)}{-\beta - \left(-\frac{\beta c}{c e a + \beta}\right) \left(-\frac{e (c e a + \beta)}{\beta}\right) \left(-\frac{\beta a}{c e a + \beta}\right)} = c,$$

$$z_{4} = \frac{\beta x_{1} + \beta y_{1}}{-\beta - x_{1} y_{2} x_{3}}$$

$$= \frac{\beta \left(-\frac{\beta c}{cea + \beta}\right) + \beta \left(-\frac{\beta f}{fbd + \beta}\right)}{-\beta - \left(-\frac{\beta c}{cea + \beta}\right) \left(-\frac{e(cea + \beta)}{\beta}\right) \left(-\frac{\beta a}{cea + \beta}\right)}$$

$$= \frac{c(fbd + \beta) + f(cea + \beta)}{fbd + \beta},$$

$$x_{5} = \frac{\beta y_{2}}{-\beta - y_{2} x_{3} y_{4}} = \frac{\beta \left(-\frac{e(cea + \beta)}{\beta}\right)}{-\beta - \left(-\frac{e(cea + \beta)}{\beta}\right) \left(-\frac{\beta a}{cea + \beta}\right) c} = e,$$
$$y_{5} = \frac{\beta x_{2}}{-\beta - x_{2} y_{3} x_{4}} = \frac{\beta \left(-\frac{b(fbd + \beta)}{\beta}\right)}{-\beta - \left(-\frac{b(fbd + \beta)}{\beta}\right) \left(-\frac{\beta d}{fbd + \beta}\right) f} = b,$$

$$z_{5} = \frac{\beta x_{2} + \beta y_{2}}{-\beta - x_{2} y_{3} x_{4}}$$
$$= \frac{\beta \left(-\frac{b(fbd + \beta)}{\beta}\right) + \beta \left(-\frac{e(cea + \beta)}{\beta}\right)}{-\beta - \left(-\frac{b(fbd + \beta)}{\beta}\right) \left(-\frac{\beta d}{fbd + \beta}\right) f}$$
$$= \frac{b(fbd + \beta) + e(cea + \beta)}{fbd + \beta},$$

$$x_{6} = \frac{\beta y_{3}}{-\beta - y_{3} x_{4} y_{5}} = \frac{\beta \left(-\frac{\beta d}{f b d + \beta}\right)}{-\beta - \left(-\frac{\beta d}{f b d + \beta}\right) f b} = d,$$
$$y_{6} = \frac{\beta x_{3}}{-\beta - x_{3} y_{4} x_{5}} = \frac{\beta \left(-\frac{\beta a}{c e a + \beta}\right)}{-\beta - \left(-\frac{\beta a}{c e a + \beta}\right) c e} = a,$$

$$z_{6} = \frac{\beta x_{3} + \beta y_{3}}{-\beta - x_{3} y_{4} x_{5}}$$

$$= \frac{\beta \left(-\frac{\beta a}{cea + \beta}\right) + \beta \left(-\frac{\beta d}{fbd + \beta}\right)}{-\beta - \left(-\frac{\beta a}{cea + \beta}\right)ce}$$

$$= \frac{a(fbd + \beta) + d(cea + \beta)}{fbd + \beta}.$$

Then we obtain that

$$\begin{aligned} x_7 &= \frac{\beta y_4}{-\beta - y_4 x_5 y_6} = -\frac{\beta c}{cea + \beta} = x_1, \\ y_7 &= \frac{\beta x_4}{-\beta - x_4 y_5 x_6} = -\frac{\beta f}{fbd + \beta} = y_1, \\ z_7 &= \frac{\beta x_4 + \beta y_4}{-\beta - x_4 y_5 x_6} = -\frac{\beta f + \beta c}{fbd + \beta} = z_1, \end{aligned}$$

$$x_{8} = \frac{\beta y_{5}}{-\beta - y_{5} x_{6} y_{7}} = \frac{\beta b}{-\beta - bd \left(-\frac{\beta f}{f b d + \beta}\right)} = -\frac{b(f b d + \beta)}{\beta} = x_{2},$$

$$y_{8} = \frac{\beta x_{5}}{-\beta - x_{5} y_{6} x_{7}} = \frac{\beta e}{-\beta - ea \left(-\frac{\beta c}{c ea + \beta}\right)} = -\frac{e(c ea + \beta)}{\beta} = y_{2},$$

$$z_{8} = \frac{\beta x_{5} + \beta y_{5}}{-\beta - x_{5} y_{6} x_{7}} = \frac{\beta e + \beta b}{-\beta - ea \left(-\frac{\beta c}{c ea + \beta}\right)} = -\frac{(e + b)(c ea + \beta)}{\beta} = z_{2},$$

$$x_{9} = \frac{\beta y_{6}}{-\beta - y_{6} x_{7} y_{8}} = \frac{\beta a}{-\beta - a \left(-\frac{\beta c}{cea + \beta}\right) \left(-\frac{e(cea + \beta)}{\beta}\right)} = -\frac{\beta a}{cea + \beta} = x_{3},$$

$$y_{9} = \frac{\beta x_{6}}{-\beta - x_{6} y_{7} x_{8}} = \frac{\beta d}{-\beta - d \left(-\frac{\beta f}{fbd + \beta}\right) \left(-\frac{b(fbd + \beta)}{\beta}\right)} = -\frac{\beta d}{fbd + \beta} = y_{3},$$

$$z_{9} = \frac{\beta x_{6} + \beta y_{6}}{-\beta - x_{6} y_{7} x_{8}} = \frac{\beta d + \beta a}{-\beta - d \left(-\frac{\beta f}{fbd + \beta}\right) \left(-\frac{b(fbd + \beta)}{\beta}\right)} = -\frac{\beta d + \beta a}{fbd + \beta} = z_{3},$$

$$x_{10} = \frac{\beta \left(-\frac{\beta f}{fbd+\beta}\right)}{-\beta - \left(-\frac{\beta f}{fbd+\beta}\right) \left(-\frac{b(fbd+\beta)}{\beta}\right) \left(-\frac{\beta d}{fbd+\beta}\right)} = f = x_4,$$

$$y_{10} = \frac{\beta \left(-\frac{\beta c}{cea+\beta}\right)}{-\beta - \left(-\frac{\beta c}{cea+\beta}\right) \left(-\frac{e(cea+\beta)}{\beta}\right) \left(-\frac{\beta a}{cea+\beta}\right)} = c = y_4,$$

$$z_{10} = \frac{\beta x_7 + \beta y_7}{-\beta - x_7 y_8 x_9}$$

$$= \frac{\beta \left(-\frac{\beta c}{cea + \beta}\right) + \beta \left(-\frac{\beta f}{fbd + \beta}\right)}{-\beta - \left(-\frac{\beta c}{cea + \beta}\right) \left(-\frac{e(cea + \beta)}{\beta}\right) \left(-\frac{\beta a}{cea + \beta}\right)}$$

$$= \frac{c(fbd + \beta) + f(cea + \beta)}{fbd + \beta}$$

$$= z_4,$$

$$x_{11} = \frac{\beta y_8}{-\beta - y_8 x_9 y_{10}} = \frac{\beta \left(-\frac{e(cea + \beta)}{\beta}\right)}{-\beta - \left(-\frac{e(cea + \beta)}{\beta}\right) \left(-\frac{\beta a}{cea + \beta}\right)c} = e = x_5,$$
$$y_{11} = \frac{\beta x_8}{-\beta - x_8 y_9 x_{10}} = \frac{\beta \left(-\frac{b(fbd + \beta)}{\beta}\right) \left(-\frac{\beta d}{fbd + \beta}\right)c}{-\beta - \left(-\frac{b(fbd + \beta)}{\beta}\right) \left(-\frac{\beta d}{fbd + \beta}\right)f} = b = y_5,$$

$$z_{11} = \frac{\beta x_8 + \beta y_8}{-\beta - x_8 y_9 x_{10}}$$
$$= \frac{\beta \left(-\frac{b(fbd + \beta)}{\beta}\right) + \beta \left(-\frac{e(cea + \beta)}{\beta}\right)}{-\beta - \left(-\frac{b(fbd + \beta)}{\beta}\right) \left(-\frac{\beta d}{fbd + \beta}\right) f}$$
$$= \frac{b(fbd + \beta) + e(cea + \beta)}{fbd + \beta}$$
$$= z_5,$$

$$x_{12} = \frac{\beta y_9}{-\beta - y_9 x_{10} y_{11}} = \frac{\beta \left(-\frac{\beta d}{fbd + \beta}\right)}{-\beta - \left(-\frac{\beta d}{fbd + \beta}\right) fb} = d = x_6,$$
$$y_{12} = \frac{\beta x_9}{-\beta - x_9 y_{10} x_{11}} = \frac{\beta \left(-\frac{\beta a}{cea + \beta}\right)}{-\beta - \left(-\frac{\beta a}{cea + \beta}\right) ce} = a = y_6,$$

706

$$z_{12} = \frac{\beta x_9 + \beta y_9}{-\beta - x_9 y_{10} x_{11}}$$
$$= \frac{\beta \left(-\frac{\beta a}{cea + \beta}\right) + \beta \left(-\frac{\beta d}{fbd + \beta}\right)}{-\beta - \left(-\frac{\beta a}{cea + \beta}\right)ce}$$
$$= \frac{a(fbd + \beta) + d(cea + \beta)}{fbd + \beta}$$
$$= z_6.$$

Next, we let  $m \in \mathbb{N}$ . Suppose that  $x_{6m+1} = x_1$ ,  $y_{6m+1} = y_1$ ,  $z_{6m+1} = z_1$ ,  $x_{6m+2} = x_2$ ,  $y_{6m+2} = y_2$ ,  $z_{6m+2} = z_2$ ,  $x_{6m+3} = x_3$ ,  $y_{6m+3} = y_3$ ,  $z_{6m+3} = z_3$ ,  $x_{6m+4} = x_4$ ,  $y_{6m+4} = y_4$ ,  $z_{6m+4} = z_4$ ,  $x_{6m+5} = x_5$ ,  $y_{6m+5} = y_5$ ,  $z_{6m+5} = z_5$ ,  $x_{6m+6} = x_6$ ,  $y_{6m+6} = y_6$  and  $z_{6m+6} = z_6$ . Then

$$\begin{split} x_{6m+7} &= \frac{\beta y_{6m+4}}{-\beta - y_{6m+4} x_{6m+5} y_{6m+6}} = \frac{\beta y_4}{-\beta - y_4 x_5 y_6} = x_7 = x_1, \\ y_{6m+7} &= \frac{\beta x_{6m+4}}{-\beta - x_{6m+4} y_{6m+5} x_{6m+6}} = \frac{\beta x_4}{-\beta - x_4 y_5 x_6} = y_7 = y_1, \\ z_{6m+7} &= \frac{\beta x_{6m+4} + \beta y_{6m+4}}{-\beta - x_{6m+4} y_{6m+5} x_{6m+6}} = \frac{\beta x_4 + \beta y_4}{-\beta - x_4 y_5 x_6} = z_7 = z_1, \\ x_{6m+8} &= \frac{\beta y_{6m+5}}{-\beta - y_{6m+5} x_{6m+6} y_{6m+7}} = \frac{\beta y_5}{-\beta - y_5 x_6 y_7} = x_8 = x_2, \\ y_{6m+8} &= \frac{\beta x_{6m+5}}{-\beta - x_{6m+5} y_{6m+6} x_{6m+7}} = \frac{\beta x_5}{-\beta - x_5 y_6 x_7} = y_8 = y_2, \\ z_{6m+8} &= \frac{\beta x_{6m+5} + \beta y_{6m+5}}{-\beta - x_{6m+5} y_{6m+6} x_{6m+7}} = \frac{\beta x_5}{-\beta - x_5 y_6 x_7} = z_8 = z_2, \\ x_{6m+9} &= \frac{\beta y_{6m+6}}{-\beta - x_{6m+5} y_{6m+6} x_{6m+7} y_{6m+8}} = \frac{\beta y_6}{-\beta - y_6 x_7 y_8} = x_9 = x_3, \\ y_{6m+9} &= \frac{\beta x_{6m+6} + \beta y_{6m+6}}{-\beta - x_{6m+6} y_{6m+7} x_{6m+8}} = \frac{\beta x_6}{-\beta - x_6 y_7 x_8} = y_9 = y_3, \\ z_{6m+10} &= \frac{\beta y_{6m+7}}{-\beta - y_{6m+7} x_{6m+8} y_{6m+9}} = \frac{\beta x_7}{-\beta - x_7 y_8 x_9} = x_{10} = x_4, \\ y_{6m+10} &= \frac{\beta x_{6m+7}}{-\beta - x_{6m+7} y_{6m+8} x_{6m+9}} = \frac{\beta x_7}{-\beta - x_7 y_8 x_9} = z_{10} = z_4, \\ z_{6m+10} &= \frac{\beta x_{6m+7} + \beta y_{6m+7}}{-\beta - x_{6m+7} y_{6m+8} x_{6m+9}} = \frac{\beta x_7 + \beta y_7}{-\beta - x_7 y_8 x_9} = z_{10} = z_4, \\ \end{cases}$$

$$\begin{aligned} x_{6m+11} &= \frac{\beta y_{6m+8}}{-\beta - y_{6m+8} x_{6m+9} y_{6m+10}} = \frac{\beta y_8}{-\beta - y_8 x_9 y_{10}} = x_{11} = x_5, \\ y_{6m+11} &= \frac{\beta x_{6m+8}}{-\beta - x_{6m+8} y_{6m+9} x_{6m+10}} = \frac{\beta x_8}{-\beta - x_8 y_9 x_{10}} = y_{11} = y_5, \\ z_{6m+11} &= \frac{\beta x_{6m+8} + \beta y_{6m+8}}{-\beta - x_{6m+8} y_{6m+9} x_{6m+10}} = \frac{\beta x_8 + \beta y_8}{-\beta - x_8 y_9 x_{10}} = z_{11} = z_5, \end{aligned}$$

$$\begin{aligned} x_{6m+12} &= \frac{\beta y_{6m+9}}{-\beta - y_{6m+9} x_{6m+10} y_{6m+11}} = \frac{\beta y_9}{-\beta - y_9 x_{10} y_{11}} = x_{12} = x_6, \\ y_{6m+12} &= \frac{\beta x_{6m+9}}{-\beta - x_{6m+9} y_{6m+10} x_{6m+11}} = \frac{\beta x_9}{-\beta - x_9 y_{10} x_{11}} = y_{12} = y_6, \\ z_{6m+12} &= \frac{\beta x_{6m+9} + \beta y_{6m+9}}{-\beta - x_{6m+9} y_{6m+10} x_{6m+11}} = \frac{\beta x_9 + \beta y_9}{-\beta - x_9 y_{10} x_{11}} = z_{12} = z_6. \end{aligned}$$

By the mathematical induction, this proof is completed.

#### 

### References

- E. M. Elsayed, M. M. El-Dessoky, and A. Alotaibi, On the solutions of a general system of difference equations, Discrete Dyn. Nat. Soc., 2012, 2012, Article ID 892571.
- [2] A. S. Kurbanli, C. Cinar, and I. Yalcinkaya, On the behavior of positive solutions of the system of rational difference equations  $x_{n+1} = \frac{x_{n-1}}{y_n x_{n-1}+1}$ ,  $y_{n+1} = \frac{y_{n-1}}{x_n y_{n-1}+1}$ , Math. Comput. Modelling, 2011, **53**(5-6), 1261-1267.
- [3] O. Özkan and A. S. Kurbanli, On a system of difference equations, Discrete Dyn. Nat. Soc., 2013, 2013, Article ID 970316.

Received: September, 2013